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��	�	���
��	��
�
��	
������
��	�������
��

�����	
	��
�����������
������������	��������
�� (shake plate or pour plate)
��,������	
�-.
/��	�
�����������0�-1
1��2�	��3�4� ����/�5�6�-	3���13�����
73
�1�1
����

������
���������3�4�5����-.��0��	
�-.8�6�6	�	����-9�: 8�6;4��631<����/�<���631�/�5�6�-	3���1
3�������
��3�4�5��9/���=/���-.�
73
�1 (diluent) 3���1�-0	;A1
���,���793����	�-� (homogeneous) 
DA01������-	3���13������0;4��/�5�6�
73
�1��,���793����	�-�	�� food homogeneous

��	��	������������� �!�� �
�	

2-01�-	3���13����5=�5�;�1��0��=������������� 25 ��-� �/�������=����-	3���1<�6	�/�5�6��,�
2�9���G�:�6	���� ��73���8����0H������I���2793 
���-9��/���2-015�68�6�9/���-������0�631���5�
J�2����0���K
��
����������

��"���#"�
	�$��% ��� (dilution)

526=�������.-L�L3��L3=�L� 0.85% ��73=������������� 0.1% �/��9/���=/���-.�
73
�1
5=�5��	�<�6	 225 ��������� �/�8��A01I���2793

��	��	��� �
�	 plate count agar

1. 2-01=��3�������1:���=4��3�����-�1��9
������� 5.0 ��-�
��=��=�-� 2.5 ��-�
��4�
= 1.0 ��-�
3������ 15.0 ��-�
�9/���-0� 1000 ��-�
pH 7.0 ±1.0

2. �/�3�����5=��9/��18����=�	�5�6
	���63�
�	�6������ 5=�=�	�H=����1: 5�6�������6��-��� 
3. ��-. pH ��,� 7 .��
�3���� PCA �15��	�.��
�3����
4. �/�8�I���2793�6	���63�A01
	���-�
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��	��% ������ �!�� �
�	5�6����7�

����/�5�63�����
73
�15����-. 1 : 10 �����	�� dilution 1 : 10 ���2-01�-	3���13���� 25 ��-� 
���9/����
73
�1 225 ��������� �/�8����X�3�������526�
�7031 stomacher ������08�����=����;526�73
����Z�[-.���;�15�6<��� 526�73.�.;�1�[703���95�63����<�����3�����,���793����	�-�

��	�"�5
7��� �!�� �
�	��% ���������"���$

�-��/�5�6�
73
�1�1���-.�� 10 ���� (ten fold serial dilution) ���526�Z�����3��2793�4��-	3���1
�
73
�1 1 : 10 5��-9��6� 1 ���������� 5=�5���3�.��
��9/���=/���-.�
73
�1 9 ��������� �Z�]�<�6	
�������3��6	��
�7031�����8LL^� (mixer) �-	3���13����5��-9���9
���
	���
73
�1 1 : 100 (10-2) ;6�
�631����
73
�15����-.��38�
73 1 : 1000 (10-3) , 1 : 10000 (10-4) ��703�8�����/��-. 5�6����/����
	����-9��6�<��
	�����0���Z���5������
�-915����-.
	���
73
�1��0�631���������

��	�	���
��	��
��"�������
��	���8���
9��6�!����

������3�������9�1�2793 standard plate count agar ��0H�������A01I���2793<�6	���/�5�6��G������� 
50 31K��D��D��= 526�Z����4�3����<����
	���
7�3
�1 ������0�
���-	3���1��0��
	���
73
�1���
��0=��5=�
���[���2793
���� 1 ��������� <�������-.
	���
73
�1 <�������-.
	���
73
�1
	��/�
3���1�63� 2 
��<��526���-.
	���
73
�13���1�63� 3 ���-. �������1D63��-�=�05. �4�3����5=��

�������5.���1=����3�<�6	8���A9���
�;A15..�=�� ��3�������9�1�2793�15�
�������� 15-20 
��������� ������0�
��
��5.���1=���2������	 �����
����0D63��-�3�4��-91=�05.[�63��-� �������8�
��1�	� 3-4 
�-91 ����8���1D6�� 3-4 
�-91 ��918	6
�	�6�<�G1 .���2793��03���J4�� 35-37 31K��D��D��= 
��� 48 2-0	��1 �-.
/��	��
�����-91��� 
/��	���������
����������-91�����3��-��313����

��=4��

������
����������-91��� (�D�����3��-�) = 
/��	��
���� × 
	���
73
�1�313����
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���:������;����������
���6 � �
�	 (�	��
���<�#�	���	�;����. 2536)

1.  3������.��0��������73���15�=J�[.���J
8�6�-��� 
1.1  H-� H�8�6��0�6�1<�6	=�-� =6��/� ��,��6�


����������	�/��-� �63��	�� 1×106

��=���/��-� �63��	�� 1×104

��/��-� �63��	�� 500
MPN E. coli �63��	�� 10
Salmonella/25 ��-� 8��[.

1.2  3����������0�������[703.���J
 �2�� ��� ��61 �����A� �3���. ��,��6�

����������	�/��-� �63��	�� 1×106

MPN Fecal
Coliform/��-� �63��	�� 20
S. aureus/��-� �63��	�� 100
B. cereus/��-� �63��	�� 100
V. parahaemolyticus/��-� �63��	�� 100
C. perfingens/��-� 8��[.
Salmonella/25 ��-� 8��[.
V. cholerae 8��[.

2.  3������0H�������	�����73���1=��<�6	
2.1  H-�H�8�6�31 <2�3�0�<�61

��=���/ ��-� �63��	�� 1×104

��/��-� �63��	��� 500
MPN E.coli �63��	�� 3
Salmonella/25 ��-� 8��[.

2.2  3������-�[79���731��0��,�H���J-�i�
��=-�	� 8�6<�� <��� ���Z ����6� ���
�3� =6�Lj� 
.4�4 ��,��6�

��=���/��-� �63��	�� 1×104

��/��-� �63��	�� 500
MPN E.coli �63��	��� 10
S. aureus/��-� �63��	�� 100
B. cereus/��-� �63��	�� 100



86

Salmonella/25 ��-� 8��[.
C. perfingens/��-� 8��[.
[�����

2.3  3�������1=���-0	8� 8�6<�� 3�������1=��=/���G
 (����J��6�	<�1) �k	����l�	 ���
�� �/� 
�9/�[���
�9� 8=6��3� ��4�3 �43-� cold meat �����A����1�= ��� H�8�6�	� ��,��6�


����������	�/ ��-� �63��	�� 100
MPN Coliforms/��-� �63��	�� 500
MPN E. coli/��-� �63��	�� 3
S. aureus/��-� �63��	�� 100
B. cereus/��-� �63��	�� 100
C. perfingens/0.01 ��-� 8��[.
V. parahaemolyticus/25 ��-� �63��	�� 100
Salmonella/25 ��-� 8��[.
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��	�	��
��	
���BC8�	����� 	�  �BD���

2-01�-	3���1H-� 50 ��-� �-0�5�6��������G� 5=��-	3���1H-��15�L���=�4����Ln31 �����9/���-0�

/��	� 25 ��������� ���X��-	3���1�6	��
�7031 MSE Homogenizer ��,��	�� 30 	����� ��31�-	3���1
�6	������p��31�.3�� 4 �/��-	3���1��08�68���=3.��������8q����
���3��33�8D���-��� �-	�
<H����=3. (test strip)
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��	�	���	
���8 8D�����
�% ���7��5���"� (APHA. 1995)

1. ��	��	��� ���	���
�/��
�7031<�6	��05265����5������	
	-��������3�D���8���3�D�33�
���
�7031<�6	��3� 

����/��
�7031<�6�	���6�1�6	��9/���-0���3� 1 
�-91 �6�1�6	��9/��63� 1 
�-91 
���-9��/�8���6���63�A01

	���-� <�6	�/���3.5�6<�61 

2. ��	��	���#�	
2.1  ��"��	�<���8 8D� (ozone-free water)

�/��9/���-0���5=�5���63�A01
	���-� (autoclave) �[7038���3�D�33�8�
2.2  #�	�����#�N � 
��
8� (Indigo stock solution)

2.2.1 ������=�����=4���-1��9 
�9/���-0� (ozone-free water) 500 ���������
L3=�L���<3D�� 1 ���������
�[<�=�D���3������8��D-��L��� (C16H7N2O11S3K3) 770 ���������-�

2.2.2  H=��-91����15��	���-.������� 1000 ���������� <����-.��������6	��9/���-0�

�
�. 1000 ��������� Indigo stock solution ��9=����;��G.8�6 4 ��73� ��703��G.8	65���0�7� 

2.3   
��
8�	�� ���� I (Indigo reagent I)
2.3.1  ������=�����=4���-1��9

=�w3
3������ 20 ���������
�D�����8�8q����
�L3=�L� (NaH2PO4) 10 ��-�
L3=�L���<3D�� 7 ���������

2.3.2  H=��-91����15��	���-.������� 1000 ��������� <����-.��������6	��9/���-0�

�
�. 1000 ���������

2.4   
��
8�	�� ���� II (Indigo reagent II)
2.4.1  ������=�����=4���-1��9

=�w3�3������ 100 ���������
�D�����8�8q����
�L3=�L� (NaH2PO4) 10 ��-�
L3=�L���<3D�� 7 ���������

2.3.2  H=��-91����15��	���-.������� 1000 ��������� <����-.��������6	�
�9/���-0�
�
�.������� 1000 ���������
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3. �
9�����	
���8 8D�����
�% ���7��5���"��7�����	%� �#���8�8S8��
�� 	�� (Spectrophotometer)
3.1  �������3�D�3�4�5�2�	1 0.01-0.1 mg O3/L

����=�������3���������3�
�� I ������� 10 ��������� 5��	���-.����������� 100 
��������� <����-.��������6	��9/���-0� ��,�<.1
 (blank)

3.2  �������3�D�3�4�5�2�	1 0.05-0.5 mg O3/L
����=�������3���������3�
�� II ������� 10 ��������� <��3���������3�
�� I 5��	�

��-.����������� 100 ��������� <����-.��������6	��9/���-0� ��,�<.1
 (blank) 
3.3  ����������-	3���1���526�Z����4��-	3���1����5��	���-.������� 100 ���������� ��0��3�����

�����3�
��������� 10 ��������� 
���=�L^�
�1 �/�8���0	-�
������4���7�<=1��0 600±5 �������� 
���526�
	���	6�1�31�D��� 10 �D������� 

4.  �"����
��	
���8 8D�
���
/��	����������3�D����=4���-1��9

�������3�D� (mg O3/L) = (AB × VB) – (AS×VT)

ƒ×b×VS


���-	<�� : 
AB = 
������4���7�<=1�31<.1

AS = 
������4���7�<=1�31�-	3���1
VB = ��������31<.1
.	��������3������ (���������)
VT = ��������	��31�-	3���1.	��������3������ (���������)
VS = ��������31�-	3���1
ƒ  = 0.42
b   = 
	���	6�1�31�D��� (�D�������)
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��	��# $����	�#��#����#

�/�H-�<����;�1����=3.��1���=��=-�H-=5���7031 =� ���0� ��793=-�H-= <������3��-. 

��	��	������ �!��
1. =�����-=�-	���
������1���=����[703526��,��-	<���31�-	3���1��0
��/������=3.
2. �����-=�-	�����08�6�-.J�2����05=��-	3���1DA01�631�����=3.
3. 
-�	�1�-	3���13�����15�J�2��
4. �=��L�-	3���13����<��<H��5�6
�<�� (score sheet) 5�6H46��0
���=3. <���-�=��H����

��=3.5�<H��5�6
�<��
5. �/�<H��5�6
�<����;3���-=�-	���<����	
=3.H������=3.��08�6�
6. �	.�	�H�
�<����08�6
��<�����-	3���1<��	��
�����H��63�4�
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�$$��# $

��7031 �j

-���0��H���33��������G.�-�p��31=�-�H-�DA01H������<���4��.7931�6�
	-���0....................................................

�����5�6
�<��=�-�H-����
	��23.������5�6
�<�������-.���1:�-1��9
5 = 23.�����0=��
4 = 23.��G��63�
3 = �}�
2 = 8��23.��G��63�
1 = 8��23.�����0=��

�-	3���1 =��
(color)

���0�
(odor)

��793=-�H-= 
(texture)

����3��-�. 
(acceptance)

�63�=�3<��
.............................................................................................................................................................
.............................................................................................................................................................
.............................................................................................................................................................
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��	<X�Y��	
���8 8D�����
�% 5���"�
���5#!���
�������9/���-0���0���K
���3�D�������� 1000 ��������� ��3��6��-.�
�7031�3�D� 
�5�6��6��-�

�6	��
�7031�	�=�� (magnetic stirrer) <�6	��	
	-��������3�D��6	�	��� Indigo Colorimetric 
Method (J�
H�	� 
) ��703��Z��
�7031�3�D�
�.��,��	�� 1 2-0	��1 5=�����73��K �9/���-� 100 
��-� �/������	
	-��������3�D���0���73��
6�15��9/������Z��
�7031��3��0�	�� 5, 10, 15 <�� 20 
���� <������Z��
�7031��0�	�� 5, 10, 15 <�� 20 ���� 

��	�� W1 <=�1
	����6��6��31�3�D����5=�����73��K �9/���-� 100 ��-�
����� �	�� (�����) 
	����6��6��31�3�D���
6�1

(�������-�/����)
5 0.021

10 0.003
15 0.003

�Z��
�7031/<2�H-�

20 0.001
5 0.056

20 0.048
15 0.050

��Z��
�7031��3/<2�H-�

20 0.040
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��	�� �1  <=�1�������2793
���������5�<�1�6��<���4��.7931�6���0�6�1�9/���31 �9/���G� <��
    =�������8q����
���3��33�8D�� 5% ��G.�-�p���0 5 31K��D��D��=

������
��������� (log CFU/g)�����������31
	-���0 0 	-���0 3 	-���0 5 	-���0 7

8���6�1 2.96a 3.12a 3.32a 3.54a

�9/������ 2.76b 2.84a 3.01a 3.22b

�9/���G� (10°D) 2.71b 2.88a 3.16a 3.24b

H2O2 5% 2.68b 2.71b 2.79b 2.82c

��	�� �2  <=�1�������2793
���������5�H-�����3�<���4��.7931�6���0�6�1�9/���31 �9/���G� <��
    =�������8q����
���3��33�8D�� 5% ��G.�-�p���0 5 31K��D��D��=

������
��������� (log CFU/g)�����������31
	-���0 0 	-���0 3 	-���0 5 	-���0 7

8���6�1 7.20a 7.43a 7.44a 7.59a

�9/������ 6.27b 6.18b 6.79b 6.81b

�9/���G� (10°D) 6.29b 6.50b 6.87b 6.60b

H2O2 5% 5.36c 5.66c 5.75c 5.88c

��	�� �3  <=�1������
���������5�<�1�6��<���4��.7931�6���0�	�����26���3����.��
����1:�-� 
������
��������� (log CFU/g)�����������31

	-���0 0 	-���0 3 	-���0 5 	-���0 7
.��
��-���� 3.01a 3.25a 3.37a 3.41a

�3.��
� 30 ����� 2.68a 3.38a 3.41a 3.46a

�3.��
� 60 ����� 2.10b 2.16b 2.19b 2.23b

�3.��
� 90 ����� 1.49c 1.69b 1.76b 1.86b


����
�� : �-	3-�p���0���1�-����<�	�-91<=�1
	��<�����13���1���-�=/�
-���0���-.
	���2703�-0� 95%
ns = 8����
	��<�����1��1=;�����0���-.
	���2703�-0� 95%
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��	�� �4  <=�1������
���������5�H-�����3�<���4��.7931�6���0�	�����26���3����.��
����1:�-� 
������
��������� (log CFU/g)�����������31

	-���0 0 	-���0 3 	-���0 5 	-����0 7
.��
��-���� 5.25a 5.87a 5.95a 6.24a

�3.��
� 30 ����� 4.82b 4.85b 5.16b 5.28b

�3.��
� 60 ����� 4.44b 4.56b 4.84c 4.97b

�3.��
� 90 ����� 4.65b 4.69b 4.75c 4.77b

��	�� �5 <=�1������
����������-91���5�<�1�6��<���4��.7931�6� ���	��1�3
/��������0��G.
�-�p���03���J4�� 5, 8 <�� 12 31K��D��D��=

������
��������� (log CFU/g)3���J4���
(31K��D��D��=) 	-���0 0 	-���0 1 	-���0 2 	-���0 3 	-���0 4 	-���0 5 	-���0 6

5 1.70 1.75ns 1.93ns 1.93a 2.03a 2.20a 3.14a

8 1.70 1.87ns 2.00ns 2.23a 2.67b 2.99b 4.71b

12 1.70 1.93ns 2.17ns 3.13b 5.02c 5.23c 6.22c

��	�� �6 <=�1������
����������-91���5�H-�����3�<���4��.7931�6� ���	��1�3
/��������0��G.
�-�p���03���J4�� 5, 8 <�� 12 31K��D��D��=

������
��������� (log CFU/g)3���J4���
(31K��D��D��=) 	-���0 0 	-���0 1 	-���0 2 	-���0 3

5 4.48ns 4.54ns 4.87ns 5.24a

8 4.48ns 4.91ns 5.01ns 5.59a

12 4.48ns 5.29ns 5.41ns 6.03b


����
�� :  �-	3-�p���0���1�-����<�	�-91<=�1
	��<�����13���1���-�=/�
-���0���-.
	���2703�-0� 95%
   ns = 8����
	��<�����1��1=;�����0���-.
	���2703�-0� 95%
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��	�� �7 <=�1������
����������-91���5�<�1�6����-1<2��3�D������Z�<���Z��
�7031 
������
��������� (log CFU/g)�����������31

	-���0 0 	-���0 3 	-���0 5 	-���0 7 	-���0 9 	-���0 11
�9/���-0� 1.59a 1.85a 2.98a 3.74a 4.05a 4.67a

�3�D��Z��
�7031 1.33b 1.73b 2.68b 3.27ab 3.33b 3.98ab

�3�D���Z��
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